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i 100kN/mM#Z#B% % -l -~ = -|3m%E#EZ S -~ = = -| 100kN/ Mm%z 5 = = ~ = —-|3m%Ei#B2 5 =~ - - -
ZHLUS 1.00/ 000 ~ 6.44 96.06| #hLis [0.00 ~ 6.44| 238 10.46 Zh st 1.00f 500 ~ 12.00 96.06] ZhList | 500 ~ 12.00] 2.38 10.46
9 100kN/mM%Z#BZ % -l -~ = -|3mZBz3| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 6.52 97.25| £hilst | 000 ~ 6.52| 2.29 10.07 ZHLS 1.00f 500 ~ 12.00 97.25] #hils | 500 ~ 12.00] 2.29 10.07
3 100kN/mM#Z#BZ % 1.00/ 000 ~ 084 114.15|3mZ#BZRB| - ~ = = -| 100kN/M%i#8 % % 1.00| 1421 ~ 19.97 114.15|3m%# B2 % -~ = = =
Zh st 100|084 ~ 752 100.00f #hlust 000 ~ 752 225 9.90 ZHLS 1.00] 500 ~ 1421 100.00] Zh st | 500 ~ 19.97| 225 9.90
4 100kN/m%Z#BZ % -l -~ = -|3mZBzE| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 418 61.27| #hLis [000 ~ 4.18] 1.63 7.19 ZHLS 1.00 500 ~ 6.56 61.27] hils | 500 ~ 6.56] 1.63 7.19
5 100kN/mM%Z#BZ % -l -~ = -|3mZBz3| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 522 76.67| FnLis |000 ~ 522| 197 8.65 ZHLS 1.00f 500 ~ 10.02 76.67| #hiist | 500 ~ 10.02| 1.97 8.65
6 100kN/mM%Z#BZ % -l -~ = -|3mZBz3| - ~ = - -| 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 6.23 92.58| £hilst 000 ~ 6.23] 2.10 9.25 ZHLS 1.00| 500 ~ 16.40 9258] #hLis | 500 ~ 16.40| 2.10 9.25
7 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S -~ = = -| 100kN/mM%E#Z% = -~ = -|3m%EiBZS -~ = = =
ZnLs 1.00{0.00 ~ 5.09 74.76] = Llst 1000 ~ 5.09| 1.94 8.54 znLst 1.00f 500 ~ 10.05 74.76] =1Lyt | 500 ~ 1005 1.94 8.54
8 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S -~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS -~ = = =
ZnLs 1.00{0.00 ~ 554 81.70| #nlist 000 ~ 554| 2.04 8.99 znLst 1.00f 500 ~ 10.00 81.70| ZnList | 5.00 ~ 10.00] 2.04 8.99
9 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S -~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS -~ = = =
ZnLs 1.00]0.00 ~ 6.41 9550 Zh kst |0.00 ~ 6.41] 2.15 947 znLst 1.00f 500 ~ 12.00 9550 ZnList | 500 ~ 1200 2.15 9.47
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